[RRARRYET—V (RRHMRZE) T 7]

202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

H &K E W g X & #t
1. CIFfli&HER 2 D34 A (20234212 4 ~2023422 7 ) Ok

i i &
LNG 127,260 M/t H G EE N —R
LPG 87,280 M/t BBt ~—2R
DRk 125,400 M/t 5 B E N X
W 125,400 F/t= 127,260 1/t X 0.9479
+ 87,280 [/t X  0.0546
(10F DU FA)

2. P HALEIH B DR A
AR ARG = JEHERNIRHE: + ST
AR = 0.081 X JFUBMEASZEIER <+ 100H) X (1+{H#EFLR)

(CA EOFATHEL , /MR LLUTF 8 = A B0 5 Tl 848
~ AT AFTHREOLE VL, IR =LA R %)
JFBHIS B A = FRIRURMIRS — LU RURMI R
(LA EOBEXTHEEL, 100 A4 810 #5C7- 100 [ BALD4FH)

[FHE L] FLIT7L5+7 T (BUE T ARy " — 27 (R ETHIX 25) ) 12 oW TlT
ZOHEEHEHLET,
FEYENE Y BT - 57,250 M/t
JFREHMIES A BhRE = 125,400 — 57,250 = 68,100
THREE = 0.081 X 68,100 =100 X1.10 = 60.67
BUN O X XD AR R EICHEO RO S 2 T -30.00

3. FVRT L5+T7 T (FUR A ARy NI — 27 (BRI SE) ) O3

K4 AL G HAEBACRE: | SRR EALR
(FiiA) (BiiA) (BiiA)
AR (GmLLF) 1,335.00 0.00 [ -
Bt Gmaz20m Ll ) 795.30 138.05 Y 168.72 H
Cit  (20m % A80m LA ) 1,077.57 [ 123.93 [ 154.60
D#E (80mZ# 2200m 2L ) 1,244.77 [ 121.83 [ 152.50 [
Eff  (200m %8 2500m LL ) 1,871.77 M 118.71 H 149.38 H
FRE  (500mZ#2800m LA ) 6,051.77 110.35 1 141.02 H
GHf  (800miZ#EZ %) 11,903.77 103.03 H 133.70 H




(REBAHRTY7]

202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

H &K E W g X & #t
1. CIFfli&HER 2 D34 A (20234212 4 ~2023422 7 ) Ok

3 i &
LNG 127,260 [/t H R~
PASIAYS 86,690 [/t 5 it —2
iz 125,400 1/t R R
DR ik 125,990 M/t BB E N X
(FER) 125,990 F/t= 127,260 1/t X 0.4021

+ 86,690 H/t X  0.0053

+ 125,400 [/t X 0.5930
(LOM PUFETLA)

2. TN DR
FHE RO = FEVERATRME + FRPEAH
THEKE = 0.085 X JFEMERSAEhRE <+ 100 X (1+{EEPLR)
(LI EORATEHEL, /NS LL T A2 U0 Tl %
~ AT AREOLG AL NS AL AN B T4 %R)
FUEMIRS A EEE = EYRCEMERE —  JRUESEIS OBl #%
(LLEOFEATHEEL., 100M K2V T- 100 BNAL D4 %H)

[FHEFIE] FLIT L1047 T (BT ) ICHOWTUIZOFHEREE AL £,
FEIEL LS OB A - 78,400 F4/t

JFEHMI RS B = 125,990 - 78,400 = 47,500
HFEER = 0.085 X 47,500 —~100  X1.10 = 44.41
BN O AR L AWARRfnst R F IO TREEDO S X i -30.00

3. FLIT L0+ T (HER AT R) DRt 3

54y AR FEUERALRRE | AR EATR R
(BiiA) (BiiA) (BiiA)
ARE (BmiLLF) 1,446.95 M 0.00 [ —
Bt Gm#&#z24m Ll T) 975.45 [ 187.28 H 201.69 [
CHf (2Am%&iZ102m L T) 1,227.97 M 176.77 M 191.18
DiE (102m #2501 m LA T) 1,475.23 M 174.35 1 188.76
ERE GOlmZiBz5) 5,894.22 165.52 1 179.93 M




202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

(FFEHARTY7]

H A B W & X &
1. CIFflisHERE 121534 H (20234512 4 ~20234E2 7 ) OB fhiA&
J B i A% =
LNG 127,260 M/t EE et X—2A
PG 87,280 M/t BB et —A
S JEUBHM AR 125,580 M/t L AN
(&) 125,580 H/t= 127,260 9/t X 0.9545
+ 87,280 M/t X  0.0471
(10F9 PU#H.A)
2. FHHK LB DA
THE RN = JEMERNTRMS: + SRS
FHEEERE = 0.081 X JEEMEFSZENZE <+ 100 X (1+HHEFR)
(LA EORATEHEL, NS LLU T3 AL A Y0 Tl 4%
~ AT AREDLGE L, NS AL a Y T4 %)
MRS A BAE = EECEMIEiRE — JEEEYRUEMEES
(LU EORATHREL., 100 K&V T~ 100 BALO 4:%H)
[FHE H1E] FLIT7 L1047 50 (BT R ICHOWCFZ0HEX A EALET,
FEYENE Y[R - 40,690 [/t
JREHMIHS A BhRE = 125,580 — 40,690 = 84,800
THHEE = 0.081 X 84,800 —~100 X1.10 = 75.55
BUN O AR KD R AR R EIC RO 2 T -30.00
3. ZLIT A0+ 77 (B A R) Dk FR
K4 FEAR FEAEHALRE: | FREEADEM
(BiiA) (Fiir) (BiiA)
AR (14mLLF) 2,800.55 0.00 —
BEE (14mZi#Ez25mLLF) 1,065.59 [ 154.00 [ 199.55 [
CHt (25mZ#BZz70mLLT) 1,783.13 Y 125.29 [ 170.84 [
DR (70 A #2200 LA ) 2,130.34 [ 120.32 M 165.87 Y
EFE (200 %82 4000 LL T) 5,273.499 [ 104.62 M 150.17 Y
FRE  (400mZ i 2800m UL ) 7,253.49 M 99.67 H 145.22 [
GEE (800mZi#Ex%) 9,233.49 [ 97.19 [ 142.74 1




[AEHR(EAEHK13A) T 7]

202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

H &K E W g X & #t
1. CIFfli&HER 2 D34 A (20234212 4 ~2023422 7 ) Ok

i i &
LNG 127,260 M/t H G Hiat N —2A
LPG 87,280 M/t BB Hat~—2R
DR Yk 125,650 M/t B B E N X
W 125,650 F/t= 127,260 F/t X 0.9604
+ 87,280 [/t X  0.0393
(10F DU FA)

2. P HALEIH B DR R
AR ARG = JEHERNRHE: + ST
FHEEEH = 0.080 X JRUBMEASZZENER <+ 100H) X (1+{H#EFLER)

(CA EOFATHEL , /MR LU = A 805 Tl 848
~ AT AFTHREOLE VL, RS LAY R T a%E)
JFRHIS B A = “FRIRURMIRS — LU ORI R
(LA EOBEXTHEEL, 100 A4 810 #5C7- 100 1 BALD4EH)

[FHE L] FLITL10+7 T (5T A ICHONWTIZ0FHARZ AL £,
FEHEEEFURMITRS . 40,600 [/t

JEEMIS S B%E = 125,650 - 40,600 = 85,000
THHEE = 0.080 X 85,000 =100 X1.10 = 74.80
BUN O R LD R R R F IO REEOS X i -30.00

3. TVLIT L0+ T2 (AR A) DEMEFR

K4 HAL G HAEBACRE: | SRR EALR
(FiiA) (BiiA) (BiiA)
ARE (8mLLTF) 1,755.27 H 0.00 H —
Bt (BmZiz25m LA T) 960.96 129.37 [ 174.17 H
CHE (25m&E#HZ80m LA T) 1,187.58 M 120.30 [ 165.10 M
DEf  (80m & Z5) 2,151.50 H 108.25 H 153.05 H




[(REHZRTYT7]

202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

H A& B &tk X &

1. CIFfli&HER 2 D34 A (20234212 4 ~2023422 7 ) Ok

i i &
LNG 127,260 M/t B 5t —2A
LPG 87,280 g/t EH et —2R
B S B 100,100 M/t R R
W 100,100 F/t= 127,260 [/t X 0.7303
- 87,280 M4/t X  0.0821
(10F DU FA)

. AR HALEH 2 OFH

AR LA = ZEYERALERE: + TREEAE

IR =

(CA EOFATHEL , /MR LLUT 8 = A B0 5Tl 848
~ AT AFTHREOLEVE IR =LA R %)

= EHERMEAS — R ERHERS

(LA EOBEXTHEEL, 100 A4 810 #5C7- 100 1 BALD4FH)

JEURHiffi B 22 B 48

0.081 X JEUEHIHSZBA + 100l X (1+7%H%)

[FHEHFE] FLIT7 VA7 I0 OREET 2 IZHOW TRz oHEX 2 ML 1,

FEVENE Y BT - 59,540 [/t
JREHMIHS A BRE = 100,100 — 59,540 = 40,500
THHRRE = 0.081 X 40,500 =100 X1.10 = 36.08
U O SR KD RE R R O RRRE O 5 [ & T -30.00
3. FLIT LV T GREEH R) DEH R
K4 TR JEMERNTRG: | SRR
(BiiA) (Fiir) (BiiA)
AEE (10MLLF) 2,147.00 [ 0.00 -
BEE (10mZ#Ez15m L F) 907.00 [ 154.00 [ 160.08 [
CHt (15mZ&#E 2100 LA T) 1,140.00 138.50 [ 144.58 [
DEf (100 & #2350 LA F) 1,710.00 [ 132.80 [ 138.88 [
ERE (350m%i#Ex5) 5,840.00 [ 121.00 [ 127.08




(RFIARTY7]

202345 H HAJFURHE SR HE I BE D& I DU T

20234E5 A1 H X9202345 H 31 H oA IS 1T DI EVE 2L HI L OB I LD
AR DN HEELELI-OTITRZRNW-LET,

H A& B &tk X &

1. CIFfli&HER 2 D34 A (20234212 4 ~2023422 7 ) Ok

i i &
LNG 127,260 M/t B 5t —2A
LPG 87,280 g/t EH et —2R
B S B 100,100 M/t R R
W 100,100 F/t= 127,260 [/t X 0.7303
- 87,280 M4/t X  0.0821
(10F DU FA)

2. P HALEIH B DR R

AR LA = ZEYERALERE: + ST

IR =

(CA EOFATHEL , /MR LU = A 805 Tl 848
~ AT AFTHREOLE VL, RS LAY R T a%E)

= EHERMEAS — R ERHERS

(LA EOBEXTHEEL, 100 A4 810 #5C7- 100 1 BALD4EH)

JEURHiffi B 22 B 48

0.081 X FEURHIHZBAE ~ 1001 X (1-+{5%BL%)

[GHRFIE] TLI7 AW+ Z0 (U Z) IZOW I Z DR RAEAEH L7,

FEYENE Y[R - 43,090 [/t
JEEMI kS S Eh%E = 100,100 - 43,090 = 57,000
THHEE = 0.081 X 57,000 =100  X1.10 = 50.78
R D SR LD A R O D5 & N -30.00
3. TVIT LW+ T GRFNH R) D45
K4 FEAR FEAEHALRE: | FREEADEM
(BiiA) (Fiir) (BiiA)
ARE (10ndLLF) 1,859.00 [ 0.00 —
BEE (10mZi#Ez20m L F) 872.00 M 128.70 H 149.48 [
CHt (20mZ#Ez50mLLT) 1,050.00 [ 119.80 [ 140.58 [
DEf (50 A #2250 LA ) 1,445.00 111.90 [ 132.68 [
EFt (250mA 2 %) 4,845.00 [ 98.30 [ 119.08 [




